
   15-17 GMC/Chev 2500/3500, Diesel 

Shifter Linkage Guard 

Instructions and Mounting Diagram 

Part # 700351 
IMPORTANT: 

Manufacturer is not responsible for negligent use of vehicle with shifter linkage guard installed, including 

overtightening of screws and bolts causing damage to vehicle. 

 

Kit Includes: 

(1) Shifter Linkage Guard 

(1) M8 Capscrew 
(1) Lock Washer 
 

 

       

 

 

 

 

 

 

 

 

 

 

 

Step 1: Remove Factory M8 Bolt and washer from Shifter Linkage Bracket. 

Step 2: Remove Air Breather Hose Clip from Transmission. 

Step 3: Move Guard into position, ensuring that the Air Breather Hose is tucked behind the guard, and reinstall Factory 

M8 Bolt and washer to Shifter Linkage Bracket through Guard. 

Step 4: Install provided Bolt and Washer through guard to hole from which you removed the Clip from the Air Breather 

hose. Tighten both bolts.  

 

Completed Install pictured below: 

Remove M8 Factory Bolt 

from Shifter Linkage 

Bracket 

Remove Air 

Breather Hose Clip 

from Transmission 

 


